EARAROBEEIERT — 2 N— IBISH —F

20135 7H26H (&) 7TEISH4HE

Ll 21 :-22%8IAI5F&FsES C18 HY5%—# \ [X] % \ (@] — | 4 (&) 14000 FAE
[AE4£] 1% :130,000 ™ ~ 2#%:26,000”  3#%&:13,000”  4%&:0MH / 5&:0M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N . Blafits :31. -3-3- . — NFRESER (%H44)
: 6 *L 0% 4 e 1((2)9 3-3-3-1 40.7 1 :;'315) IE%) {ﬁ_»;\
L:FREy TINT— BUSKILI KD 2l #wT
PP L TEARE= :32. —4—4— . — RiEEm— (%)
olglg|7¥dVay R 1(13/2@0 Sy 408 ! ?_631) SeARH :
R:g 4% v ML B4 —2T8=51 RS
3078 | T-v>T VLR # o4 | EOE 1:(312>.2 4-5-53 |40.6| — | 8 | 42 é@g* &2
R:TANRTy Y1 BiISYCESTL— (-6) REHIS
R “a = 7 ER g : -8-7- — BEHIER (5H)
4 o | FrT— kAT i 5 Ll (11.312/.25) 8-8-7-7 | 40.3 2 (3_929) e A
L—ATOo— B:Fr7-KREET7> =iE B
“ oy = IR 132, —6-6- . — LHEE (1)
sl7l 7| 71 RTUF« it o4 ZE (11312/28) 6-6-6-6 | 40.8 3 (4_136) Pt A
RiZa—A>T52 R Biyr/AZXh— RIS IR
.= 4 | KEFHFE 1:33.4 1-1-1-2 | 42.4| — BEHIER (5H43)
6l111|72AxA* Uy b # 54.0 (333> ° (‘?34) &) S ENPI5oF
L:79%wx B:UaLIHLI—Y YA 7805
. Shhe . 00— _ KBEK (%)
7 ML EV A H o6 33 1.(364>.7 2-2-2-5 | 43.6 9 (5_028) S A
R HE—y BiIAY s eOr %M #iL
S, 0 4 6 | WTHZ 1:35.3 10-9-9-9 [41.5| — 7 477 | INERBSER (SEHR)
8 4| xS A53.0 3) 1) ®) X EATATVF
AT F—T BO—-INTEIL NRES= )
N 4 | THERE 1:35.4 7-7-8-8 | 42. - Ak (55H1)
olglio| FzVv-»E-—% RS Pty 8| S A 5 e o
RYIRG4 TSR BRI AT INCPERES Z ¢ ]
e s B 5 | ABES 1:37.2 9-10-10-10 | 43.1 | — 10 | 4 | BAEE (542)
10189 | NTE=-TIL=741 54.0 ©) 46) E(H;) 7,-;?#5‘9‘3;
RR—ANFIHLF— B:Taly bTa—F JIlE ik
® 1—F—@EBIERL
1T=7r= 1,3,6,8,5,7,10,2,9,4
2a=5F= 1,3,6,5,8,7,10,2,4,9
Ja=5= 1,3,6,5,8,7,2,10,4,9
43—+ — 6,1,(5,8),3,7,2,10,4,9
[ /N
B 6 220 714K 5-6 300M e E 5-6 750/ JEE 5-6-8 9,990M
B B 6 230H 6-8 1,470H B = 5-6 840M JEE 6-5-8 38,280
5 170 5-8 1,910H B H 6-5 1,830
8 520M

ABICOVWTRDTEEERROODE. TR LIV,




